PAGE 22-124 MOTOROLA

MODELS 50X11,

50X121, Ch. HS-180

GENERAL INFORMATION

- TYPE - AC-DC table model superheterodyne receiver
with lcop antenna

| TUNING RANGE - 535 to 1620 Kc IF - 455 K¢

TUBE COMPLEMENT - 12BE6 Converter

: 12BA6 IF Amplifier
12AT6 Detector, AVC & lst AF Amp
50C5 Power Amplifier
35W4 Rectifier

SPRING

DRIVE PULLEY
(GANG CLOSED

MODEL 59X11 MODEL 59X121

POWER SUPPLY - 117 volts AC or DC, 35 watts {(Mahogany Plastic Cabinet) (Ivory Plastic Cabinet)

POSITION)
DRIVE
—2-TURNS T CORD
3-TURNS

" POINTER PULLEY

TUNING SHAFT

H FIGURE I. STRING DRIVE

'POWER SWITCH AND YOLUME CONTROL. Operated with
the left-hand knob. NOTE: Reverse the line cord
'plug in the wall outlet if radio does not operate
from DC. When operating from AC, reversing the
line cord plug in the wall outlet may sometimes
Ifimprove reception and reduce hum,

TUNING. Tune stations with right-hand knob.

ANTENNA. A loop antenna is built into this recei-
ver, eliminating the need for an external antenna.
‘Reception from some stations may be improved by

©John F. Rider

Courtesy Nostalgia Air

INSTALLATION § OPERATING INSTRUCTIONS

rotating the whole receiver; this is due to the
slight directional characteristic of the lbop an-
tenna. In extremely roisy locations, rotate the
entire receiver till minimum noise and maximum sig-
nal pickup are obtained. For additional pickup, an

external antenna may be connected by winding lead-

in wire in slots on radio back panel.
GROUND. Never connect antenna or chassis to water

pipe, radiator or other ground, as one side of the
power line is connected directly to chassis.

PART NO. 54P691612




Courtesy Nostalgia Air

—

|

e

rectly to the power line.

MOTOROLA PAGE 22-125

SERVICE NOTES

The chassis of this receiver is conhected di-

when operating chassis

(from AC line) outside of its cabinet, use an iso-
lation transformer between power line and receiver

to reduce possibility of electrical shock.

{former between power line and receiver.

If

isolation transformer is not available, check the
AC voltage betwesen chassis and bench ground; if
there is any indication of voltage, reverse the
line plug before handling set.

ALIGNMENT

If AC power is used, use an isolation trans-

if isola-

tion transformer is not available, comnect low side
of signal generator to chassis through .l mf capa-

citor.

Connect low range output meter across speaker

voice coil and set volume control at maximum.

MODELS G59X11, |

50X12I, Ch. HS-180

For

greatest accuracy, keep output of receiver at ap-
proximately .05 watt (.05 watt = .40 volt on output
meter) throughout alignment by reducing signal gen-
erator output as stages are brought into alignment.
Use a small fibre screwdriver for aligning IF &
diode transformers,

DuMMY
STEP | ANTENNA
1F ALIGNMENT
1. .1 mf

RF ALjGNMENT

*Connect generator output to 5" diameter, 3 turn loop and couple to receiver loop. Kkeep loops at least

12" apart.

GENERATOR
CONNECTION

Rear stator
- of tuning
capacitor

Raciation
locp*

Radiation
loop*

GENERATOR GANG
FREQUENCY SET TO ADJUST
#mmq
455 Kc Gang 1, 2, 3
opened & 4
1620 Kc Gang 3
fully
opened
1400 Kc Tune for 6
maximum

REMARKS

W

Adjust for maximum,

Adjust for maximum

Adjust for maximum

(3 SEC. (BOT)

@ PRI (TOP)

— 1F 455 KC

1F '
0% &

AMP 12BE6

CONYV.

@ s © LOOP

TRIM
@? | 1400KC

/ , 1] (5 0SscC.
TRIM
— ‘__ i 1620KC

©John F. Rider

FIGURE 2.

TUBE & TRIMMER LOCATIONS

N ————p e T T e
T

(1) SEC. (BOT)
® PRI. (TOP)

C_DIODE 455KC T==<




||
=1

PAGE 22-126 MOTOROLA
MODELS 50X11,

NYHOVIQ DILVW3IHIS "€ 3¥N9i4
SNOLLOINNOD
30110vdvwD
4NN
= = 1IN0YD ¥3Livaw - _ CANOD “TOA NO) '
= 4 4 . LHSIT Wig == HOLIMS ldbo._ o) [or4- ] INGES
— - 55 r THQ 30N NOWVOLIINIAI JONVM AONINOIY
Amwl 50— v
%1@-w 9IV2I 9vE21 9382 5906 ( ALl RETIER!
posus o=l msny HOLIOVIYD FT4ILINK NI SHISNIONOD: ¥
¢ ONYO NO  SHINMINL = %
d9vo 9313 | 'SWHO (0001} ONVSNOHL 3NO =)
63 | % 01T JONYHIIOL FOVIION 'SWHO NI Q3LVHIONI SHOLSISIN 11w
HE, "IN DVALI SYM JOVLITIOA LNANI ‘NI O3NNL SYM TUNDIS 310N
~ Tiu.......nli ON "WALA ¥V HLIM SISSYHD OL1 O31¥DIONI SINIOJ
Nu9 Ol-4 NOYd (IMNSYIN JHIM NMOHS SONIOV3Y 39V.70A 0+ $920850¢3'ON "9¥I(Q
100 “T3A = &
z I
193y re . "
PMSE .__.w.ot ..n_va
4 1 1 T _ — 00 ¥ )
Ds0 '
= = 21 "
- = q
|
29 L4 HOLIOVIYD
led IR ONINAL SNV 2
4IANYIIS — e 9
-87 INICO" %
= ]
; - (
!
9 = _
3 6-d = i
Y ost IHI b _
o oy %4
005} Nez
8-0 £y :
. N E—
o EL Yo
1_._ HSNTHL y 4 £ 2 4 B |-
LAdind
“ ¢-L g _ s \ ===y
[ L] bl (===
N N\ ===] )}
: L (MIIA WO1i08) TR
~ SNOI L93NNOD 4007
© ool Aol dWY umd 4¥=0AY-130 2-Le i ¥ILYIANOD e
« G006 alLvel 9382
—
o\
—
e
N
5 e e = = s

©John F. Rider

_Courtesy Nostalgia Air



Courtesy Nostalgia Air

REF.
NO,

PART NO.

REPLACEMENT PARTS LIST

DESCRIPTION

CHASSIS PARTS - ELECTRICAL

CAPACITORS
C.l 1X690759
Cc-2 859821
C-3,5,

6,7  21B482847

C-4 859816
C-8 859802
C-9 - 23K482857
C-10  BA470504"
PILOT LIGHT

I-1 65K11854

VYariable: 2 gang; with pulley
Paper: .05 mf 200V ..........

Ceramic, multiple: includes
220 mmf {C-3), .002 mf (C-5)
220 mmf (C-6) & 005 mf (C-7)

Paper: .05 mf 400V ,.........

Paper: .02 mf 400V ...... seen

Electrolytic: 50-30 mf 150V,,

Paper: .25 mf 50V

(B I SR BN N R )

Bulb: 6.3V-.15 amp; tubular,
clear, #47 . . iiiiiinnrennns

Loop Antenna: includes back panel
BC Oscillator roil

Speaker: 4" PM; 3.2 ohm voice
coil .

All resistors are insulated carbon type, 20%,

unless otherwise specified.

22,000 1/2 watt . .
100 1/2 watt ..o.vevenenaeen-
3.3 meg L/2 watt ........0.
Volume Control: 1 meg with
SPST switch ..vveeneeaen coe
10 meg 1/2 watt ...........
27 10% 1/2 watt ...ueeeens
470,000 1/2 watt
470,000 1/2 watt .,...ce00a
150 1/2 watt ....cvvusvanens
1000 J watt ....0evvennnnans

106 1/2 watt
1500
1500

I ]

1/2 watt .. ......
1/2 watt ...ceuns NN

IF, 455 Ke: complete with tuning
cores & padding capacitors but
less shield .......... veenaa

Thode, 455 Kc: complete with
tuning cores & padding capa-
citors but less shield

Output Transformer ..........

Bracket, loop mig
Bracket, tuning shaft mtg ....
Bracket and Inculater Assembly,
pointer shaft mtg ..vvevvunee
Core, iron {for T-1 & T-2) ...
Cord, dial: 18%; blk .........
Cord, line & plug: 6 ft long..
Eyelet, spacer (gang mtg).....
Grommet, spacer {(gang mtg)....
Insulator, cord outlet

LR N BN I RE R N R

ooooooo

COILS
L-1 24K690657
-2 24K482855
SPEAKER
LS-1 50C478138
RESISTORS
Note:
R-1 6R60G28
R-2 6R6018
R-3 6R2118
R-4 18A70032
R-5 6R2109
R-6 6R56R3
R.T 6R6032
R-8 6R6032
R-9 6R3992
R.10  6R3953
R-11 6R6028
R-12 6R6161
R-13 6R6161
TRANSFORMERS
T-1 248482863
T-2 24B482865
T-3 25K485973
CHASSIS PARTS - MECHANICAL
7K485971
TATT337
1X600679
46K680318
1iIM8944
30K482856
SA19458
5AT0404
14A482844
26R3010

Lug, scldering: #6 hot-tinned.

©John ¥. Rider

HEF.

NO, PART NO.

2576051

557771
557707

5587701

357477

352294

357454

353398

1X690775
1X690774
26K485936
26A470013
26A481521
9h690673
0A472534
41A14244
41A73996
4AT0015

457633

4K482859

CABINET PARTS

16E690504

or 16K690659
36h690668

or 36k650669
64B690666
38A25507
52K690744

34690662
357148

35490381

35488098

46K690772

MODELS 59X11,

W

MOTOROLA PAGE 22-127

50X12I, Ch. HS-180

DESCRIPTION

Nut, hex: 3/8-32 x %/16; sti;
cad pl; Palnut {volume con-
trol mtg) .......... cersennan

Rivet: .088 x 3/16; stl; nkl
pl (tube socket mtg) ........

Rivet: .122 x 5/32; stl; nkl
pl {output trans and tube
shield mtg) ...civavronancesns

Rivet: .122 x 3/16; stl; nkl
pl (tuning sheft bracket and
pointer bracket assembly mtg)

Screw, machine: 8-32 x 1/4;

lain hex head; stl; cad pl
Floop pane] mtg) ...ieiniaan

Screw, machine: 6-32 x 1/2;
plain hex head locking type;
st]; cad pl (gang mtg) ......

Screw, sheet metal: #8 x 1/4;
PKZ plain hex bead; stl; cad
pl (speaker mtg)

Screw, sheet metal: #6 x 3/8;
PKZ plain hex head; st]; cad
pl (loop brkt and cord insula-
LOT MEE) srecvcevuonanencnanss:

Shaft and Pulley Assembly,
peinter ........ Lessestsnnce

Shaft and Pulley Assembly,
tuning

Shield,

Shield,

Shield,

Socket,

Socket,

Spring,
SLOM) vrvvvesannnasnssonnn ..

Spring, temsion {electrolytic
mounting) ...

Washer, ‘C' {(tuning shaft and
pointer shaft. retainer}.....

Washer, flat: 9/16 x 11/64
x .033 thick; stl; cad pl

(loop panel mtg) ...ovvenvenens

Washer, shpulder (loop bracket
and cord insulator mtg)......

-----------

ceil ...
bight ... .
tube: spring ........
pilot light .........
tube ... i

LR RN N A BN

M B d B B W BRSNS

Cabinet, table model: molded;
mahogany {59X11) ............
Cabinet, table model: molded;
ivory (59X12I)
Knob, control: mahogany (39X11)
Knob, control: ivory (59X12I)
Plate, trim ..o..uue Ceaerameaas
Plug, split (antenna panel to

cabinet mtg) ......... ‘e
Pointer and Hub ......... e
Scale, dial ......cc0v.nn aees

Setscrew: 6<32 x 1/8 Allen head;
stl; cad pl (pointer and hub
mtg)

Screw, drive; #00 x 1/4 PKU
plain round head; brass (dial
scale mtg)

Screw, sheet metal: %8 x 3/8
type 25; plain hex head; stl;
cad pl {chassis mtg) .......

Stud, trimount (trim plate
mtg)

........................

-----------------

-------------------




